®

—~
=voT=cH

P ERFORMANTZGCE

Z900 Kawasaki
Tail Tidy

Installation Instructions



Installation Instructions

Kit Contents PRNO013818

® 1 x Upper Bracket

1 x Lower Bracket

(© 1 x Base Plate

(@ 1 x Number Plate Bracket

(® 1 x Retro Light

(® 1 x Loom Connector 5

© 2 x MB Flange Nut

(H) 2 x M4 Flange Nut

(D 2 x M4 x B Black Button Head Bolts
@ 2 x M4 Black Washers

® 3 x M5 x 12 Countersunk Screws
© 4 x MB Black Washers

M B x MB x 16 Black Button Head Bolts



Installation Instructions










Installation Instructions




Installation Instructions







Installation Instructions —_——




Installation Instructions

ﬂ




= = pp—
Installation Instructions - —_——
b I'.










Installation Instructions P




Installation Instructions







Installation Instructions ‘.




Repeat
Both Sides




Both Sides




Repeat
Both Sides






Installation Instructions




Installation Instructions j

. Repeat
Both Sides 5



Installation Instructions

Repeat
Both Sides




Repeat
Both Sides



Repeat
Both Sides



Installation Instructions

Loop cable ties through the
tail tidy.
Secure wires in position

/s

S
¥

Caution




C_J

Feed cable tie through tail tidy
so the head sits inside the
slot on the outer face



Installation Instructions

Run wires neatly down the channel
in both parts ensuring they
do not get trapped or squashed

Caution







Installation Instructions

Run wires neatly down the channel
in both parts ensuring they
do not get trapped or squashed

Caution




Run wires neatly down the channel
in both parts ensuring they
do not get trapped or squashed

Caution







Installation Instructions










Run wires neatly down the channel
in both parts ensuring they
do not get trapped or squashed

Caution







i - ..‘ I 'w
~ ( OEM PART
i i - > ; \
. Al

MShas



Installation Instructions







L X 1111






Installation Instructions 4 ? —=4

mp Q@

SR AN W Ry




